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' PART A : — L'Z =
ate between Statically determinate structures and statically 7 R
inate structures. g 12 %1 0
various structures forms with examples. T3 T col
¢ F;Ic_ulale static indeterminacy for following structures. 10
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2|aDifferentiate between linear analysis and non linear analysis of T \ L2 &I
E ctures.
: : bExplain the terms degree of freedom, influence line diagram, 8 12 | GEi
] lications of influence diagrams and absolute maximum bending
%’; ment.
| '[ciDerive the expression for maximum reactions and shear force fora 10 | L3 | COI
I imply supported beam due to uniformly distributed loads. {UDL
onger than span of beam) 1
; . L " LPARTER TARE T ek
~ 13|alA uniformly distributed load of intensity 2kN/m and 5m long crosses a 5 L3 | S
- | | imply supported beam of 20m span from left to right. Calculate
T i. Maximum shear force and bending moment at a section 8m
e from left support.
0 ii. Absolute maximum bending moment,
{-__*- blA train of four concentrated loads 40kN, SOKN, 60kN and 30kN wit)y 20 | L3 [COl1.2
| | BOKN load leading crosses a simply supported girder of 18m span. The
| | {four loads are separated by a distance of 1.5m each. Determine the
| jmaximum bending moment at 6m from left support and absolute]
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N crosses a beam of 20m span :
e and negative shear force at a section 8m from the|

1e multiple point loads 100kN, 120kN, 80kN and 150kN with a 20 | L3 | COl,. .
g 2m crosses a girder of span 30m from left to right with 100kN] |
1 leading. Calculate reactions, maximum SF at a section 10m from '
eft. maximum BM at a section 10m from left, absolute maximum SF
1 absolute max BM.




